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SJN-201
B.Sc. (Part-II) Main Examination, 2021
(New Course)
PHYSICS
[ Paper : Second |
Time Allowed : Three Hours
Maximum Marks : 50
Minimum Passing Marks : 17

Note : Attempt only one questions in each unit. All questions

carry equal marks.
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1. Establish Newton's formula for the velocity of

longitudinal sound waves in a gas. [10]
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2. Prove that the value of energy density for a progressive

wave does not depend on distance and time. [10]
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3. Derive an expression for the focal length of a thick
lens and prove that increasing the thickness of the lens

decreases its focal length. [10]
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4. Write short notes on the following :
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(a)  Comparison between Huygens and Ramsden

Eyepiece [5]
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(b)  What is telephoto lens ? [5]
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5. Derive an expression for fringe width by decribing the

arrangement of Young's experiment. [10]
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6. Describe the formation of Newtons's ring by reflection
of monochromatic light and explain it. [10]
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7. What is half time zone ? Describe Fresnel's half-time
zone method to find the intensity of light at a point

due to a wavefront. [10]
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8. What is meant by the resolving power of an optical
instrument ? Explain Rayleight's criterion of
resolution. [10]
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0. Write a short notes on the following :
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(a)  Non-linear optics. [5]
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(b) Importance of laser in communication
tools. [3]
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10. (a) Find the phase associated length and

phase associated time for 20 waves of

wavelength 6000A . [5]
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(b)  Explain inductive inversion and define optical

pumping and active material. [5]
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